| ON HALF YEARLY EXAMINATION - 2022

COM

; gtandard X Reqg No.
A MATHEMATICS :
Time : 3.00 hrs Part-1 Marks : 100
I Choose the correct answer: £ : |: i 14x1=14
1 If the ordered pairs (a+2. 4} and (5, 2a8+Dj are aqua then {a,b) is ;
c) (2.3) d) (3-2)

a ﬁ:lr :{iﬁ; is a bijective junction and i rlil!-f-]= 7 then nlA) is aqual J:? -
2 L0 |
3 ?il':e?ﬁmn of the cxﬂ-ﬁtr]fa;':ij af the prime '-’""-:Ilf'"“- r the prime ‘-tlﬂlﬁjrjziﬂﬂf" of 17281s
' cJ [
4 I;:.}E- :irnes of 6" term :jl anr:: AF |3 equa b 7 T.imés of 7¥" term then lizé 13" term of the AP
I’Ei 0 b) 6 cled d) 13
az=-6 -Ty+7z=7, 32=8I8

- b1
B} (5.1}

5 The solution of the SySIEM X * ¥ : :
al n=1,y=2.2=3 bix==-1y=2,z2=4d
c) x=-1,y==2,2=3 dx=1.y=—2. 223
& Graph of alinear equation 1s 2
al snaight line b] cirche ¢} parabola d) hyperbola
7 Atangent is perpendicular 1o the radits at the
a] centre b] pointof contacl c) intinity d) chord
. R b P [ e A
8 The slope of the line joining (12, 3}, (4, a)15 7g hevalue ol a is
o |
al 1 bl 4 ) =5 d 2
9 When ploving that & quadrilateral is a narallelogram by using slopes you muslt find
al the slopes of two sides b} the slopes of two pair of opposite sides
f.'] tee i-EI"-I;[!'!::i of all sigas d) boath the lengths and slopes of two sides
- 4 1
10. Thavalue of 5IN° Y+ ———5— is equal 10
1+tan“ @ :
a) tan“o bl 1 c) cotéh d 0
11. Ifthe ratio of the helght of a tower and the length of its shadow is /3 : 1. then the angle

12,

1.

14,

of elevation of the sun has maasura
a) 450 b) &0° o) 90 d) 60°

A spherical ball of radius runits is melled to make 8 new identical balls each of radius
fg Unita, Thenr, i r,i8

a 2:1 B 12 c)4:1 d 1:4

The range of data 8, 8,8, 8,8, 8, .......... Bis

a) 0 b} 1 c) 8 d) 3

Which of the following is incorrect?
a) P(A) >1 bl 0sPlAJs1 € Pl$)=0 d) P(A)+P(A) = 1
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| X Maths
- (2) _
Part-nn ~

' ) 10x2=20
10 questions: (Q.MNo.28 is compulsory :
1‘2‘ mmuwgis ;:ilmn by the set {{%. ¥} /y=x + 3, X € {0,1,2,3,4,5}). Determine its
in and e.

16 %ﬁ:s;a?th;amumﬁm f={{1.2). (2.2), (3.2). (4.3), (5,41} through

i i ii ble form
i) an arrow diagram il ala Y
17. ‘a’ and ‘b’ are two positive integers such that a® x b*

: ax’y - Eii
18. Simplify : E}— 20y"
19, Determine the quadratic eq uali

20, What length of ladder is neaded |
of the ladder is 4 ft from the wall? Round off your

1. Determine whether the sel of points {a, b+c). (b,
1 ! |1 . _5
20 Find the eguation of the line passing through the point (3, —4) and having slope _,f-:,' :
21 Find the angle of elevation of the top af a tower from & point on the ground, which is

30 m away from the foot of a tower of height 1043 M.

800, Find 'a’ and 'b’.

ans, whose sum and product of rocts are -8 and 20,
to reach a height of 7 f1. along the wall when the base
answer to the next tenth place.
c+a) and (¢, a+b) are collinear.

e e
24, Prove the following identity : T+ 5ino
95 The curved surface area of a right eircular cylinder of helght

diameter of the cylinder. i _ O e
26 A coneof height 24 cm is made up of madeling clay. A child reshapes it in the form of

' ' C ind the height of the cylinder.
a cylinder of same radius as cone. Find tha he ;h""f the E”. oy
Finé the range and co—efficient of range of the following data : 25, 67, 4B, 53, 18,39, 44

=Sspclh —tano

14 om is 88 om?. Find the

27
28 Solve : 5x = 4 (mod €)
(OR)
Write the sample space for tossing three Coins using tree diagram.
Part - Ill

lll. Answer any 10 questions: (Q.No.42 is compulsory) | 10 x 5=50
Lot A={xeN/1<x<4} B={xeW/O0=x<2}andC= IneM /x < 3}, then verify that

Ax(BAC)=(AxB)n(AxC) ;
a0. Consider the functions (x). glx), hix) as
fx) =x-1, glx) = 3x + 1 and hix) = x° :
31, If PXL 5 P2 xP3*3 xP4y™ = 113400 where Py, P,, P,, P, are primes in ascending
order and X, , X,, X3, X4 are integers, find the value of Py, Py. P, Fgand X,, X5, Xq, Xg
32 The product of three consecutive terms of a Geomelrc Progression is 343 and their

I sum is 9}6 . Find the three ferms.,

33 If wand p are the roots of x2 + 7x + 10 =0, find lhE_w..fJIues. of

i s
= B " g+

(i)a-p ii}%’f% 'iiijT+_a::“

-gi'..re*ﬁ b-e!n;*:-w. Show that (fogloh = folgoh)

%
-

-, T Kigdly send me your questions and answerkeys to

. e N ol s & & 6 ™ns o & -
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" is 243 (- 1) (x - 2)
35, State and prove Pylhagores theo
36. Find the value of 'k, if the area ©
(~4,-2), (-3, k). (3.-2) and (2. 3)

 37. Aman is watching a bog
angle of depression of 607

After 10 seconds, the ang ;
speed of the boat (in Km/hrl. assuming that it is sailing in stil waler?
ape of a cylinder with two hamisphere stuck to each of its ends.
g 12 mm and the diameter of the capsule is 3 mm,

38. A capsule g in the sh

If the length of the entire capsule i
how much medicine it can hold?

et
f guadrilateral js 28 sq.units, whose vertices are

t speeding 8w

y from the top of a tower, The boat makes an
with man's ey@ when at a distance of 200 m from the tower.
le of depression becomes 45°. What is (he approximate

W3 -1.732)

96. A cylindrical glass with diameter 20 cm has water 1o a height of 8 em. A small t:ylin!jric:al
metal of radius 5 ¢m and height 4 cm is immersed it complelely. Calculate the raise of

the watar in the glass?

40. The marks scored by 10 students In a class lestare 25, 28, 30, 33, 35, 37. 38, 40, 44,

48. Find the standard deviation.

41, Two dice are rolled together. Find the probability of getting a doublet or sum of faces as 4.

ra b
42, IF"“'_"E d)

- o
e P

].snnwtwam?'--{a1dm=n:c ad) I,
(OR)

Find the aguation of a line through the given pair of points {2, 3) and (=7, -1)

IV. Answer the following:

Part - IV

2x8=16

43. a) Construct a APQR which the base PQ = 4,5 cm, £R = 357 and the medium from

Rito BGis 6 cm.

to fill the same tank.

(OR)
bl Craw the two tangents from a point which is 10 cm away from the centre of a
circle of radius 5 cm. Also. measure the lengths of the langents.
44, a) The folliowing table shows the data about the number of pipes and the time taken

Ng. of pipes (x)

i

3

6

g

Time taken (in min) (y)

4!:-'}

30

15

20

Craw the graph for the above data and hencea

il Find the time taken to fill the tank when five pipes are used. .
il  Find the number of pipes when the lime is 9 minutes,

; (OR)

b) Draw the graph of y = x2 + x - 2 and hence solve x2+ x =2 =0

ik &

.I.|.l.|....l:|...'|. e
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